Home Learning: Tuesday 2nd March 2021
Maths

Today we are going revise multiplying and dividing by 10, 100 and 1,000. Just remember the rule shown below. If you need to write the numbers in the correct place value columns then move the digits in to the correct place value column. Choose from A, B or C then complete the challenge questions if you are confident. [image: ]
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Challenge Answers
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Multiplying and Dividing by 10, 100 and 1000
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X10 digits move LEFT 1 space +10 digits move RIGHT 1 space
X100 digits move LEFT 2 spaces +100 digits move RIGHT 2 spaces
X 1000 digits move LEFT 3 spaces + 1000 digits move RIGHT 3 spaces
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Copy and complete.

@ []x10=2560
@[ ]+10=710
€ [ ]x 100 = 3900
@ []+100=40
@[ ]x10=5700
D[ ]-10=68
€ [ ]x 100 = 1000
@[ J+10=25

Write the answers only.
© 473x10

© 5900 =10

© 160 x 100

© 8200 - 100

© 35 x 1000
© 90000 + 1000
@ 64000 x 10
© 27000 = 10

© 1810100
@ 43000 = 100
@ 718 x 1000
@ 520000 + 1000

Copy and complete.

® [ ]x10=89500
@[ ]+10=4200

® []x 100 = 73000
@[ ]+100=150

@ [ ] x 1000 = 900000

@[]+ 1000 = 60

0 How many £10 notes
make one million
pounds?

@ How many grams are
there in 70 kilograms?

c

Copy and complete.

© [ ]x 10= 1500000
© [ ]+10=21000

© [ ]x 100 = 3840000
© [ ]+ 100=7600

© [ ] x 1000 =*290000

© [ ]+ 1000 = 1483

@ 17100 x[_]=1710000
© 29000 [ |=2900
© 840 x| = 840000

@ 1206000 [ | = 12060
@ 5130000 <[ |=5130
@ 15360 x[_]=153600

@ How many pounds is ten
thousand pence?

@ Whatis 10km in
millimetres?

@ What is 25 kg in grams?

@ There are 50 pins in each
packet. There are 40
packets in each box. How
many pins are there in
2000 boxes?

O How ma‘hy pounds is four
hundred 5p coins?




image3.png
1)

2)

3)

Javine says, “To multiply by 1000, I just add three zeros.”
Kian says, “I times by 10, then times by 10 and times by 10 again.”
Do you agree with Javine and Kian's methods for multiplying by 1000? Explain your thinking.

Can you work out the diameter of these new planets using the clues below?
Vesta is 10 times bigger than Athena.

Athena has half the diameter of Vulcan.

Juno is 10 times bigger than Athena.

Ceres is 100 times bigger than Vulcan.

Vulcan is 20 530km in diameter.

Apollo is 100 times bigger than Athena.

Alan and Astrid, the astronauts, are exploring the new planet, Vulcan. Alan has travelled 763 steps. Astrid has
travelled 10 times more steps than Alan and then walked another 250 steps. How many steps has she travelled?
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482

5 35000

9 2600
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12 10000
1370
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7 640000
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9 181000
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17 800
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20 20
2137
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23 100
2446

11 718000
12 520
13 8950
14 42000
15 730

25 256
26 7100
2739
28 4000
29 570
30 680
3110
32 2500

16 15000
17 900

18 60000
19 100000
20 70000
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13 £100

14 10000000
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16 4000000
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Javine should have said that the digits move three places to the left. If you are multiplying a decimal number
by 1000, for example, 2.5 x 1000, adding three zeros results in 2.5000. If any columns on the right of the digits
have become empty, they will need a place holder.

Kian’s method is correct as 10 x 10 x 10 = 1000, It is the same as multiplying by 1000,
Juno — 102 6S0km, Athena — 10 26 Skm, Ceres — 2 053 000kim, Vesta — 102 & S0k, Apollo — 1 026 S00km, Vulcan — 20 $30km

763 x10 =7630
7630 + 250 = 7830
She has travelled 7830 steps.




